
1

 K
it

 I
N

ST
A

LL
ATI

O
N

 I
N

ST
R

U
CTI

O
N

S
 Installation Instructions for

AMB 4 and AMB 8 Controllers on 
Commercial Series Boilers

   P/N 240006898, Rev. 1.0 [08/07]

safety considerations
Installing and servicing air-conditioning equipment can be hazardous. Only 
trained and qualified service personnel should install, repair, or service air 
conditioning equipment. (The use of safety glasses is recommended.)

 !    WARNING: Before removing any access panel, disconnect power 
to unit. Failure to do so could result in serious injury or electric shock!!

tools required                          
• Flat Head Screwdriver
• ¼ inch nut driver
• Pliers

Parts included
AMB4A AMB8A

AMB4A Controller AMB8A Controller

240006455 Harness, AMB to Burner Base 240006455 Harness, AMB to Burner Base

240006456 Harness, AMB, High Volt Pwr. 240006456 Harness, AMB, High Volt Pwr.

240006700 Harn., AMB, Base #1, BLK 240006700 Harn., AMB, Base #1, BLK

240006701 Harn., AMB, Base #2, BRN 240006701 Harn., AMB, Base #2, BRN

240006702 Harn., AMB, Base #3, BLU 240006702 Harn., AMB, Base #3, BLU

240006703 Harn., AMB, Base #4, RED 240006703 Harn., AMB, Base #4, RED

240000062 Wire Ties (x8) 240006704 Harn., AMB, Base #5, ORG

201000001 Screws #8 (x4) 240006705 Harn., AMB, Base #6, YEL

240000062 Wire Ties (x12)

201000001 Screws #8 (x4)
	

Note: For convenience the Commercial boiler is designed to accommodate 
either left or right hand control mounting. The AMB control unit will easily 
mount on the same side as the main controls. Pre drilled holes have been 
provide in the sheet metal end panels to be used for the mounting of the AMB 
controller. All harnesses have been designed for this mounting location.

Installation Instructions



2

AMB 4 & AMB 8 Kit INSTALLATION Instruction

Installation

Figure #1

Figure #3

1)	 Locate the mounting holes for the 
AMB controller on the side panel of 
the Commercial Series boiler. Then, 
using the four (4) #8 Screws provided, 
mount the AMB controller to the side 
of the boiler. Figure #1

2)	 Mount  the High Vol t  harness 
(240006456) to the bottom of the AMB 
controller. Use the knock out hole pro-
vided nearest to the L, N connections 
on the circuit board. Connect the Black 
wire to L, White to N and Green to the 
ground stud provided. Figure #2

3)	 Mount the other end of the High Volt 
harness (240006456) to the side of the 
control box. Connect the black wire 
to the relay at terminal position #3. 
Connect the white wire to the power 
block at terminal position L2 (N). Con-
nect the green wire to the grounding 
screw. 

Refer to the wiring diagrams provided 
(614002306, 614002307, 614002309) 
and Figures #3 & #4.

Figure #2

High volt harness
# 240006456

AMB - Burner harness 
#240006455



3

AMB 4 & AMB 8 Kit INSTALLATION Instruction

4)	 Mount the AMB - Burner harness 
(#240006455) to the bottom of the 
AMB controller. Use the knock out 
provided that is located closest to 
center of the circuit board. Figure #2

5)	 Using the table #1, connect the color 
coded wires from the harness to the 
terminal blocks assigned for each 
boilers burner assembly. Unused 
wires should be kept insulated with a 
wire nut or cap to protect them from 
contacting the inside of the control box 
or circuit board.  Figure #2

6)	 Remove the existing two wire har-
ness from the (control box to burner 
assembly) and unplug the connector.  
Connect the two position plug from the 
AMB - Burner harness (#240006455) 
into the existing two position plug 
from the control box. Then mount 
the end of the AMB - Burner harness 
(#240006455) and two wire harness 
from the control box to the key-hole 
shaped slots provided near the burner 
assembly. Figures #5 & #6

Figure #4 

Figure #5

Figure #6

Table #1

Base Wire Harness 
color assignment

1 Black

2 Brown

3 Blue

4 Red

5 Orange

6 Yellow



4

AMB 4 & AMB 8 Kit INSTALLATION Instruction

7)	 Remove the vestibule cover located 
above the burner assembly to gain 
access to the burner controls. 

10) Plug the two position connector into 
each of the gas valve assemblies. 
Then connect the mating nine-position 
plugs for each adjacent burner har-
nesses. Burner harness number one 
(black) will then connect the harness 
mounted in step #6 from the AMB 
controller. Figure #9

Installation of the burner harnesses

Each existing burner assembly comes equipped with a two-wire harness that is cas-
caded between boiler burner assemblies. These will need to be removed and replaced 
with the nine-wire harnesses provided for the AMB controller. 

For testing and operation of the AMB control 
unit, refer to the manual provided with the 
AMB controller.

Unplug

Figure #7

Remove 

Figure #8

9-Wire Harness Wire Ties 

Figure #9

Connection to gas valve

8)	 Unplug and remove each of the two-
wire harness for each burner assembly.  
Figure #7 

9)	 Using the wire color assignment from 
the table #1, mount each of the AMB 
nine-wire harnesses in place of the 
two-wire harnesses. Replacement wire 
ties are provided. Use these to secure 
each of the nine-wire harness below 
the ignition module. Make sure all loose 
wires are secured. Figure #8

11) When the installation is complete 
replace all access panels for the vesti-
bule, control box and AMB controller.



5

AMB 4 & AMB 8 Kit INSTALLATION Instruction

Drawing # 614002306



6

AMB 4 & AMB 8 Kit INSTALLATION Instruction

Drawing # 614002307



7

AMB 4 & AMB 8 Kit INSTALLATION Instruction

Drawing # 614002309



ENVIROMASTER INTERNATIONAL LLC
5780 Success Drive, Rome, NY, USA 13440www.enviromaster.com


